


ASSEMBLY INSTRUCTIONS

ASSEMBLY TIPS: Please use the hardware and accessories included in the set. DO NOT use other electrical or manual tools.
In order to facilitate the assembly and make your final product firm and stable, please tighten by a few rounds each screw one by one. After all screws are connected, 
then you start to tighten each screw to the end.
DO NOT tighten any screw to the end before you’ve connected all screws.
The assembly requires minimal level of DIY skills if you follow the instructions carefully. In case you encounter any difficulty or have any questions, feel free to contact 
the store or manufacturer.

C

B

H

D
G G

Part # Reference Image QTY

A

B

C

D

E

F

G

H

I

1

1

1

1

1

1

10

6

1

M6*20

M6*30

STEP 1

Connect chair seat base (B) with armrests (C and D). M6*20 bolts (G) and M6*30 bolts (H) are used. 
Please do not tighten bolts to the end at this step.

Connect chair back (A) with armrests (C and D). M6*30 bolts (H) are used.
Please do not tighten bolts to the end at this step. 

Connect chair front and back beams (E and F) with armrests (C and D). M6*20 bolts (G) are used.
Make sure all bolts are inserted properly,  then thighten all bolts.

Finish and enjoy your chair.

STEP 2

STEP 3

STEP 4

C

B
A

H H

G G

G
F

E



ASSEMBLY INSTRUCTIONS

ASSEMBLY TIPS: Please use the hardware and accessories included 
in the set. DO NOT use other electrical or manual tools.
In order to facilitate the assembly and make your final product firm 
and stable, please tighten by a few rounds each screw one by one. 
After all screws are connected, then you start to tighten each screw 
to the end.
DO NOT tighten any screw to the end before you’ve connected all 
screws.
The assembly requires minimal level of DIY skills if you follow the 
instructions carefully. In case you encounter any difficulty or have 
any questions, feel free to contact the store or manufacturer.

STEP 2

STEP 3

Part # Reference Image QTY.

J

K

L

G

I

M

1

4

2

2

16

1

STEP 1

Place table top frame (J) on the ground, then screw table legs (K) to it. 
Please do not tight any screws to the end at this step.

Screw table leg support ring (L) to table legs. 
M6*20 bolts (G) are used.
Make sure all screws are inserted properly and tighten all screws to the end. 

Place table top tiles (M) on the table frame properly. 

Finish and enjoy your table!

K

G

J

L G

M

M6*20


